:-":J{) Angular Speed (w)

e Angular speed is the rate at which an object changes its angle 6 (in radians) in time t. The
' . 8 . - : .
formulais: w = ~ [Units: radians per period of time|

Linear Speed ‘vl

The speed at which a point on the circle is moving. is measured by what arc length is traveled in time t.
The formula is: v =rw where © is measured in radians per unit of time. g*%%ﬁ&g
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Ex 4) Find w for the following situations: Kt__))

a) A line from the center to the edge of a CD revolving 300 times per minute.
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b) A secm‘a clock.
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Ex 5) Find v for eacﬂ of the following:

a) The tip; of the second hand on a clock, if the hand is 28mm long.

/=32 (5) - B o ~HET e |

b) A pomt of tread on a tire with radius 18cm, rotatmg at 35 times per minute.

W= ERY mv P ZIT_ rad = TI0U raj;\/mth
4 min L mv

the linear speed ofsthe belt in centimeters pe
per second.
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Ex4) a) A pulley hasq?ﬂﬁﬁf 15 cm. Suppose it takes 25 sec for 75 cm of belt to go around the pulley. Find
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b) A thread is being pulled off a speol at the rate of 75 cm per sec. Find the rad1us of the spool if it

makes 110 revolutions per min.
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¢) A circular gear rotates at a rate of 75 rpm (revolutions per minute), What is the angular speed (in
radians per minute)? What is the linear speed of a point on the gear 3mm from the center?
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v= 3(150x) =430 mh/m
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d) Yank Hardy pulls the cord on his Eseeer mower. In order for the engine to start, the pulley must turn

at 180 revolutions per minute. The pulley has a radius of 0.2 feet.

i) At how many radians per-\' ot i
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ii) When Yank pulls the cord to start the mower, what is the% velocity of the

center of the pulley? ’ convert Yo oo ?5‘\ -
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e} A ceiling fan with 16 in. blades rotates at 45 rpm. I

1) Find the angular speed of the fan in rad/min.
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i1) Find the linear speed of the tips of the blades in in/min.
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